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| 1 | BF75129200mB1 LFSATIL result |

HFENE K £ R S | 0-100m time km/h I iz
9 K5t Hth A Kb 2 5749 11718 64.40 1 K&
8 AH S RENG 1 5749 1120 64.29 2 e
7 =l £ PN 2 5762 11743 62.99 3
5 2l PN 1 562 11752 62.50 4
6 B E R PN 1 566 1157 62.23 5
3 mE CH PN 1 570 11758 62.18 6
4 aig BiE PN 2 5"75 1165 61.80 7
2 2 IE PN 2 586 12”19 59.06 8
1 Bl S PN 1 624 12”76 56.43 9
| 2 | &F75125200mBLLNSATIL result
HEIEK £ R & | 0-100m time km/h JIE iz
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EEXF 1 6747 1302 55.30 1




| 3 | 1kmyqLb5470 RE% result
#H | S/FIE 4 R Z24F |1166.5m333.3m| 500m |666.6m|833.5m| 1000m| time | km/h | JEfL
1 H %88 & 2PN 1 | 14792 | 11702 | 10790 | 11742 | 11745 | 12714 | 1’72708 | 48.60 4
) H |&E CH 2PN 1 | 15705 11703 | 11725 | 11766 | 11784 | 12”66 | 7’1364 | 46.97 6
Bl 52 2PN 1 116735 11779 | 12731 | 12783 | 13722 | 13764 | 1220”14 44.92 9
3 H |51 &g 2PN 2 | 15781 | 10790 | 10765 | 11708 | 11724 | 11778 | 7°171"56 | 49.61 3
B =)l £ XA 2 | 15776 | 10769 | 10764 | 10791 | 11716 | 11”16 | 7’70760 50.99 2
4 H [3RE ZR XA 1 | 15790 12700 | 11743 | 11780 | 11759 | 12”15 | 174798 | 45.58 8
B | AH BER PN 1 [ 16711 10771 | 10782 [ 11717 | 11765 | 12732 | 1712778 48.14 5
5 H [Kx&t ZEth PN 2 | 15722 10784 | 10”88 | 11706 | 11703 | 1087 | 709790 45.63 1
B2 % PN 2 |16765| 11730 | 11702 | 11745 | 11784 | 12702 | 7°714”14 | 46.07 7
| 4 | 500m4/LM5471 SRS result
HEIE S/FIK 4 B Z24F |1166.5m|333.3m| 500m time km/h | B4z
1 | H/B|&xT &N BEEXF 1 | 16768 | 11758 | 11753 39792 36.79 1




| 5 | 3kmdyT49 47 a7h-w—Ya—+ IEBIRE result
# | SIFIE % i B PE| Tkm 2km 3km time km/h JE£E
1 H [#LL#2 X 1 124791 | 1'23"44 | 1’23753 | 4’77788 | 42.71 8
B|AH BEE PN 1 | 121789 | 120700 | 1'18”14 | 400755 | 44.90 6
9 H |f8:8 =& 3PN 1 11854 | 1117716 | 1116753 | 3’52729 | 46.10 5
B HE -3 3PNt 1 | 120711 | 123706 | 122794 | 406720 | 42.82 7
3 H |B1E EIE PN 2 | 112766 | 114778 | 1'18"35 | 345786 | 46.78 4
B2 1 3PNt 2 | 114767 | 113717 | 114718 | 342704 | 48.21 3
4 H [k & PN 2 | 1113726 | 1"11"59 | 1'08727 | 333744 | 49.90 1
B = Il £ 3PNt 2 | 117702 | 111745 | 1'13"83 | 347785 | 48.46 2
| 6 2kmA YT A YT AT N =Ya—b BGLRTE result
# | s/FlR % OB FE| Tkm 2km time km/h JE sz
1 H |&x &% BEXF 1 12188 | 120708 | 2471796 | 44.18 1
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